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Unit 9 Strategic methods: how to pursue strate¢

The Compton School, Summers Lane (155677)

AQA A Level Business 2 (Wolinski & Coates): pages 280-281

Case study 2: Innovation through research and development

at AstraZeneca

AstraZeneca is one of the world’s leading
pharmaceutical companies and the UK’s second
biggest spender on research and development.

The company’s R&D takes place in eight countries,
but is mainly concentrated in Sweden, the UK and
the USA. Its employee base is worldwide with over
57,000 employees (35 per cent in Europe, 30 per cent
in the Americas and 35 per cent in the rest of the
world, mainly in Asia). Production takes place in

16 different countries.

In the ‘noughties” AstraZeneca faced a ‘patent

cliff'- a period in which many patents were expiring.
AstraZeneca's reaction was to increase its R&D efforts
even more (its R&D spending has grown by 140 per
centin the last seven years). It also took over some
smaller pharmaceutical companies with expertise

in its target areas, and a ‘generic’ drugs company in
China which specialises in producing cheap ‘generic’
drugs, based on patents that have expired. In this way
it can reclaim some of the sales lost by the expiry of its
patents. As a result of these changes, the number of
drugs under development (in the ‘pipeline’) has grown
steadily and stands at 133 different drugs at present
(2015).

However, although AstraZeneca’s success rates
are above average for pharmaceutical firms, not all
of these drugs will become government-approved
treatments. In 2014, 33 of the company’s pipeline
drugs are in the final stages of completion, but 9
projects were discontinued.

People are naturally cautious about new drugs,

so pharmaceutical companies face greater risks

than firms in other industries. However, these risks
can be offset by successes, although the nature of
successes in this industry is that they become the
high-risk products when patents expire. Crestor, its
cardiovascular treatment, is a world-leading drug and
provides sales of over £5.5 billion a year. Currently, it
accounts for 21 per cent of AstraZeneca's sales revenue.
Unfortunately, AstraZeneca faces another ‘patent cliff’
because patents on Crestor are expiring over the next
five years (AstraZeneca organises its patents on a
particular product between different countries so that
they do not all expire at the same time).

One consolation is that drugs companies can plan
ahead. The Crestor manufacturing plant in Bristol is
due to close in late 2016 or early 2017. However, this
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decision was made in 2008 and the company plans to
relocate staff to other plants, where possible.

AstraZeneca's strategic plan to offset the forecast
loss of sales arising from the loss of patents on
Crestor, and some other drugs, consists of a number
of elements:

Growth rates at constant exchange rate (CER)
*Including impact from mandated price cuts

A Figure 12.3 AstraZeneca's growth platforms

It can be seen that Brilinta and the treatment for
diabetes have provided very high levels of growth in
2014. Respiratory drug growth is also contributing
well, especially as the scale of this area of treatment
means sales growth in excess of $500 million in

one year. Emerging markets are also growing well,
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@ |t has targeted two markets for growth - emerging

® It has identified oncology (cancer treatment) as an

et has identified three treatments that offer growth
opportunities. These are Brilinta (a treatment
for heart attacks and angina); and treatments for
diabetes and respiratory problems.

markets and Japan.

area of expertise to be developed.
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but sales in Japan have fallen. The success of the
‘Oncology’ platform will depend on the success of the
company’s R&D.

Sources: AstraZeneca website and an article by Dan Stanton in www.inPhar-
maTechnologist.com, 8 December 2014
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A Higure 12.3 AstraZeneca s growth platforms

It can be seen that Brilinta and the treatment for
diabetes have provided very high levels of growth in
2014. Respiratory drug growth is also contributing
well, especially as the scale of this area of treatment
means sales growth in excess of $500 million in

one year. Emerging markets are also growing well,

Questions

1. Analyse two types of risk that AstraZeneca might
experience through its R&D activities. (9 marks)

2. Examine the reasons why a company such as
AstraZeneca focuses most of its research and
development in 3 countries and yet has production
bases in 16 different countries. (9 marks)

3. Analyse the reasons why a drugs company such
as AstraZeneca is more likely to use R&D rather

but sales in Japan have fallen. The success of the
‘Oncology’ platform will depend on the success of the
company’'s R&D.

Sources: AstraZeneca website and an article by Dan Stanton in www.inPhar-
maTechnologist.com, 8 December 2014

Total: 50 marks

than other ways of innovation, such as kaizen,
intrapreneurship and benchmarking. (12 marks)

4.0n the basis of the evidence provided,
evaluate whether AstraZeneca has benefited
from its decision to put more resources into
research and development (R&D) in the

twenty-first century. (20 marks)
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